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Bachelor of Education (B. Ed.) 
Term-End Examination 

June, 2(11.9 
BES-122 : CONTEMPORARY INDIA AND 

EDUCATION 

Time : 3 Hours 	Maximum Weightage : 70% 

Note : All questions are compulsory. All questions 

carry equal weightage- 

1. Answer the following question in about 

600 words : 

What is the relationship between education and 
the constitution ? Analyse the Articles included 
in the constitution of India which deal with the 
issues of education. 

Or 

Discuss the role of education as an instrument 
for social change. 

2. Answer the following question in about 

600 words : 

Discuss the aims of education with suitable 
examples. 
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Or 

Compare and contrast educational thoughts of 

`Plato' with that of 'John Dewey'. 

3. Write short notes on any four of the following 

in about 150 words each : 

(a) Controversy between 'Orientalists' and 

(b) `Knowledge concept as discussed by 

National Knowledge Commission. 

(c) Relationships between school and 

community. 

(d) Concept of direct and indirect democracy. 

(e) Functions of education. 

(f) Implications of Right to Education Act for 

secondary education. 

4. Answer the following question in about 

600 words : 

What do you understand by specific curricular 
issues in the curriculum ? According to you how 

should the specific curricular areas be dealt 

with ? Explain with examples. 

(A-2) 
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